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d) The number of students attending the Digital Logic coursé is 215. How many di gits

are needed to encode the students using a numbering ‘_'system with radix=6?
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f) GivenF(4,B,C) = %.,,(0,4,5,7). Determine:

0 = x/z/v)y )

Given F(A,B,C) = AB + AC.Determine: =, —————
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1) Write the Boolean expression of the function F(A, B, C, D) implemented in the
following circuit diagram.

Note: Do not simplify or modify F. A l . =
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Problem 3: Given the K-map of F(4, B, C, D), write the optimized Boolean expression of
£"as a Product of Sums (PoS).
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Problem 4: Consider the following k-map for the function F(A, B, C, D). Identify the
expressions of its essential prime implicants. / _Y('I.S points)

Essential prime implicants:

B \LJZW, | AR

C
AB ] I T,

- 1\, —B
A ‘(1]] K .L)(?lj‘\ %C(y/
SR | 5

A%+BCD+§@

Problem 5: Given the following functlon F=
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a. What is the literal cost (L), the gate- input cost (G) and the gate-input cost with
nvertars counted (GN), of F?
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b. Fill-in the K map of F.
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